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. In a certain code KINETIC is written aé TICDKIN.
How is MACHINE written in that code ?

(1) ENIGMAC (2) INEGMAC
(3) INEGCAM (4) ENIGCAM
(5) INEGMCA

. If P means x’, Q means ‘+’, R means ‘~? and S means
‘+’, then —
46R12P3S18Q9="7

(1)133 )14 .
(3) 36.5 (4) 16
() 12

. If each vowel of the word DEFAULTS is changed to
the next letter in the English alphabetical series and
each consonant is changed to the previous letter in the
English alphabetical series how many alphabets will
appear twice in the new formation ?

(1) None (2)One
(3) Two (4) Three
(5) Four
. ‘VT’ is related to ‘QO’ in the same way as ‘MK’ is
related to “........ X i
(1) HF 2)1G
(3) RP 4)JG -
(5) Q0

. How many such pairs of letters are there in the word
RATIONS, each of which has as many letters between
them in the word (in both forward and backward
directions) as the/have between them in the English
alphabetical series ?

(1) None (2) One
(3) Two (4) Three
(5) More than three

. The positions of how many digits will remain the same if
the digits in the number 35928164 are rearranged in the
ascending order from left to right?

(1) None (2) One
(3) Two : (4) Three
(5) More than three 1}

. There are four bags T, S, V and W, each having
different weight. Bag T is lighter only than S. V is

10.

lighter than W and W is lighter than T. Which of the
four bags is the lightest ?

(s 2w

B3I @V

(5) Cannot be determined

. If it is possible to make only one meaningful word

with the first,fifth, seventh and the eleventh letters of
the word ‘RECIPROCATE’ which would be the
second letter of the word from the left ? If more than
one such word can be formed, give X as the answer. If
no such word can be formed, give Z as your answer.

(DR )P
3)E @ X
(5)Z

. How many meaningful English words can be made

from the letters EAP, using each letter only once in

~each word ?
(1) None (2) One
(3) Two (4) Three
(5) Four

Meghna drives 10 Km. towards South, takes a right
turn and drives 6 Km. She then takes another right
turn, drives 10 Km. and stops. How far is she from the
starting point ?
(1) 16 Km.

(3) 4 Km.

(5) None of these
Direction (11-15) : In each question below are three
statements followed by two conclusions numbered I
and IL. You have to take the three given statements to
be true even if they seem to be at variance from
commonly known facts and then decide which of the
given conclusions logically follows from the three
statements disregarding commonly known facts.
Give answer (1) if only conclusion I follows

Give answer (2) if only conclusion II follows

Give answer (3) if either conclusion I or

conclusion II follows

if neither conclusion I nor
conclusion II follows

(2) 6 Km
(4) 12 Km.

Give answer (4)
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TEST-II :

Directions (51-58) : Read the following passage
carefully and answer the questions given below it.

Certain words are printed in bold to help you to locate |-

them while answering some of the questions.

Once upon a time, there was a shrewd shopkeeper called |

Makarand. He had a friend called Mihir, who had saved
a lot of money. Mihir was keen on going on a
pilgrimage, but he did not know where to leave his
precious savings. So he came to Makarand’s shop and
said, “my friend, I trust you more than anyone. Could
you please look after my fife’s savings till I return from
my pilgrimage? Makarand pretended to be deep in
_thought, and then said, ‘I would rather not. Money spoils
relationships. What if something happens to your money
while you are away? You will no longer be my friend.’
As Mihir stood there by his shop thinking about what
his friend had just said, an old woman entered the shop
and bought some things. One of the .boys helping
Makarand, gave her less change than he should have.
Makarand saw this and pretended to scold the boy, he
then ordered him to return the remaining money to the
woman, Mihir not knowing that this was an act put up
by Makarand to make him believe that he was honest,
was convinced about his decision and said to
Makarand, ‘I have decided. I will leave the money
only with you.” Makarand smiled. Then let us do
something. Let’s take the bag of coins and bury itin a
place that only you and I will know of. That way, even
if something happens to me while you are away, you
will know where your money is.’
Mihir, simple that he was, thought this was a good idea
and the two. went and hid the bag in a secret place. Mihir
left the next day on his pilgrimage, happy his savings
were in safe hands. Six months later, Mihir returned. He
dumped his luggage at home and went to dig out his bag
of savings. But even though he searched and searched
for his valuables, there was no sign of the bag anywhere.
In panic, he ran to Makarand, who was busy in his shop.
When Mihir asked him about the bag, Makarand
pretended to be surprised, ‘But I did not go that way in
all these months. Why don’t you search for it again?‘ he
said, putting on his most innocent look. Mihir had no
choice but to believe him. Sadly, he went home.
On the way, as luck would have it, he met the old woman
he had seen in Makarand’s shop. Seeing him sad, she
asked him what the matter was. Mihir told her the whole
story. Then she smiled and whispered a plan to him. Not
long after, the woman came to Makarand’s shop,
carrying a big box. ‘Brother, I heard you are a good and
honest man. My son went on a pilgrimage many months
ago and has still not returned. I am worried and have
decided to go and look for him. Will you look after my
box of two hundred gold coins while I am away?*
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51.

52.

53.

PRACTICE MODEL PAPERS

Makarand could not believe his luck. He was about to
Jaunch into his idea about hiding the box, when an

angry Mihir entered the shop, ‘Where is............ ‘ but
before he could complete his sentence, Makarand,
afraid of being accused in frent of the old woman, said

quickly. ‘I forgot. 1 had seen some pigs digging
around there and had removed the bag just to keep it
safe. Here it is.” And he handed Mihir the bag he had
stolen many months ago.
Now the old woman pretended she was seeing Mihir
for the first time, ‘Son, did you also go on a
pilgrimage? Could you tell me if you met my son
anywhere? His name is Jahangir.” Mihir, clutching
onto his precious bag, said, ‘Yes, Auntie, I met him on
the road a few villages away. He was on his way
home. He should be here in a week.’

The old woman leaned over and took her box away

from Makarand. Thank you, brother, you have saved

me an unnecessary trip. Now, I will need some money
to prepare for my son’s welcome,’ she added and the
two left the shop. Makarand could only stare at them

open-mouthed. by d

What incident in the passage convinced Mihir that

Makarand was indeed an honest man?

(A) The incident where he scolded his helper boy for
returning less change to the old woman who was a
customer in his shop.

(B) The fact that Makarand refused to keep Mihir’s
money, in the event that it might destroy their
friendship:

(C) The incident where Makarand told Mihir that he
had kept his bag with him as he saw pigs digging

at the very spot where the treasure was buried.

(1) Only (A) (2) Only (B)
(3) Only (C) (4) Only (B) and (C)
(5) Only (A) and (C)

What was Makarand’s real intention for wanting to

bury Mihir’s bag of valuables?

(1) He wanted Mihir to know where the money would
be in case something happened to him while Mihir
was away

(2) He did not feel safe keeping Mihir’s bag -of
valuables with him ‘

(3) He wanted to steal-the money while Mihir was away

(4) He wanted the pigs to dig out the bag so he could
steal it

(5) He wanted to be a part of a far more adventurous plan. .

Where did Makarand and Mihir bury the bag of coins?

(1) In a secret place in Mihir’s garden -

(2) In the ground under Makarand’s shop

(3) In the old woman’s backyard

(4) In his shop :

(5) Not indicated in the passage
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91.
92.

93.

94.

101.

102.

103.

104.

105.

106.

107.

108.

gives long life to anyone who eats them. As the fruits
were being shown to the ruler, Rama, giving Hi-to
temptation, (93) up one of the luscious peaches and
(94) into it. The king was (95). “You’ve bitten into a
fruit (96) for me!” he thundered. “For this you must
die!” As Rama was being taken away by the royal
guards he sighed dramatically and exclaimed: “What
a deceitful man the Emperor of China is. He (97) the
fruit gives long life took just one bite and I am about to
die. Oh, what fate (98) the one who eats the entire fruit
P The king was (99) amused by Rama’s wit. He not
only (100) him but gave him a dozen of 1he peaches
he had risked his life for.

(1) parcel (2) grown (3) bought
(4) sent (5) give

(1) stating (2) attach (3) stuck
(4) telling (5) meaning

(1) reached (2) picked

(3) take (4) secured

(5) stole

(1) touched (2) smell

Directions (101-125) : What will come in place -of
the question mark (?) in the Jollowing questions?
34 38

bt P Y

19 51 18 ! l
ol

(1)18 (2)9 (3)24

(4) % (5) None of these

36x12+5-424=7 :

(1) 36 (2) 46 (3) 54

(4) 44 (5) None of these

8899 — 6644 —3322=7-1122

(1) 65 )75 (3)55

(4) 85 (5) None of these

26% of 450 —? = 12% of 150

(1) 101 (2) 135 (3) 89

(4) 99 (5) None of these

64x16+256=(4)""?

(1)1 (D4 (35

4)3 (5) None of these

(16x5)—(5x4)-52=2+4

(1) 4 (2) 45 (3)32

(4)2 (5) None of these

2oE4 of () Z336

7 5 : :

(1) 270 (2) 250 ... (3450

(4) 420 . (5) None of these

9 +(3)*x27=(3)’ =

(1)6 2)7

TEST-III : NUME

96.

97.

98.

99.

100.

109.

110.

111.

112.

113.

114.

(3) opened
(5) look

. (1) enraged

(3) teasing
(5) sober
(1) parcel
(3) designed
(5) meant
(1) promises
(3) said

(5) meant
(1) has

(3) awaits
(5) stores
(1) also

(3) being
(5) greatly
(1) rejected
(3) praise
(5) forgive

AL ABILITY

More papers

(4) bit

(2) harsh
(4) eager

(2) made
(4) send

(2) directed
(4) told

(2) holds
(4) for

(2) farther
(4) little

(2) pardoned
(4) left

B)5 48
(5) None of these
56% of ? +45 =353
(1) 450 (2) 520 . (3) 550
(4) 660 - (5) None of these
73.96 —18.19+17.47=7+10.91
(1).62.33 (2) 61.43 (3) 56.33
(4) 54.53 , (5) None of these
(224x 6x 5) = 12-65="7
(1)-8 @9 (3)17
4)-16 (5) None of these
45x 2+5+31=(2)*
()7 (2) (49)° @)-17
(4) -7 ©)-7
631+ 417-324=2+(9)*
(1) 653 (2) 643 (3) 563
(4) 768 (5) None of these
e R T

4 3 2

1 11 11

o P Yl Syares
) 12 ( )12 ) 12
4) 11—12 (5) None of these
H o2

7 14 21
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(1) I only (2) I and II only
(3) IT and III only (4) I and III only
(5) None of these

Consumer  Affairs Secretary Rajiv Aggarwal

consumer columnist * Pushpa Girimaji, consumer

activist Rajan Gandhi and Suresh Mishra of Centre for

Consumer Studies, IIPA, have been included in a

15-member committee set up to look i mto which of the

following issues recently?

(1) Quality and quantity of food supplied for mid-day
meals programme

(2) Leakage of foodgrains in public distribution
system (PDS)

(3) Wastage of food in public functions and social |

gatherings
(4) Use of banned chemicals in ripening of fruits and
vegetables
(5) None of these
The government has set up Vidyut Vyapar
Nigam’ as the Central Agency to purchase solar
power from the developers and sell it to distribution
companies such as state electricity boards.

(1) BHEL (2) NHPC
(3) REC ; (4) NTPC
(5) None of these

The ‘Global Talent Index Report: The Outlook to
2015°, which has ranked India 35th in a list of 60
courtries on their capacity to develop, attract and
retain talent in 2011, is an initiative of:

(1) Wall Street J ournal (2) World Economic Forum
(3) The Economist (4) Financial Times
(5) None of these

Which of the following statements about the recent
growth estimates by Centre for Monitoring Indian
Economy (CMIE) for 2011-12 is/are correct?
L. Agricultural and allied sector will have a lower
* growth rate than in 2010-11 '

IL. Industrial sector, including construction, is
projected to have a faster growth rate than in
2010-11

II1. Services sector will have a lower growth rate than
in 2010-11

(1) I only (2) I and II only
(3)Mand I only * (4) 1, II and III
(5) None of these

‘Last Man in Tower’ is a recent book by which
Booker Prize winning Indian writer?

(1) Arundhati Roy  (2) Kiran Desai
(3) Aravind Adiga: - (4) Salman Rushdie
(5) None of these

Which of the following launched its global ‘GROW’
campaign for a hunger-free world in India recently?
(1) Oxfam

(2) Food and Agnculture Organisation

(3) International Food Policy Research Institute

(4) Coalition Against Hunger I (81

“(5) None of these a6

176.

177,

178.

179

180.

More papers

Which public sector bank is associated with the
launch of India’s first Gramin Bank (Rural Bank)
ATM Card in association with Varanasi-based Kashi
Gomti Samyut Gramin Bank and National Payments
Corporation of India (NPCI) recently?

(1) Allahabad Bank (2) State Bank of India
(3) Canara Bank (4) Union Bank of India
(5) None of these

The revised estimates of ‘GDP at Factor Cost by
Economic Activity’ for the financial year 2010-11 were
released by the Central Statistical Organisation (CSO) on
May 31, 2011. Out of the eight economic activities
(Agnculim'e, forestry & fishing; Mining & quarrying;
Manufacturing . Electricity, gas & water' supply
Constructlon Trade, hotels, transport and oommumcauon,
Financing, insurance, real estate & business services;
Community, social & personal services) which showed the
slowest growth over 2009-10?

(1) Agriculture, forestry & fishing

(2) Mining & quarrying

(3) Construction

" (4) Trade, hotels, transport and commumcatxon

(5) None of these
World’s first call on a GSM mobile phone service was
made 20 years ago in

(1) USA (2) Sweden

(3) France (4) Finland

(5) None of these

The revised estimates of ‘GDP at Factor Cost by

Economic Activity’ for the financial year 2010-11 were
released by the Central Statistical Organisation (CSO) on
May 31, 2011. Out of the eight economic activities
(Agnculture forestry & fishing; Mining & quarrying;
Manufacturing  Electricity, gas & water supply;
Construction; ~ Trade,  hotels,  transport = and

.commlmxcanon, Financing, insurance, real estate &

business services; Community, social & personal
services) which showed the fastest growth over 2009-10?
(1) Agriculture, forestry & fishing

(2) Mining & quarrying -

(3) Construction

(4) Trade, hotels, transport and communication

(5) None of these - -

Which of the following is not among the five-fold
strategy adopted by the government to tackle the
menace of illicit funds?

(1) Joining global crusade against ‘black money’

. (2) Creating an appropriate legislative framework

181.

(3) Setting up institutions for dealing with Illicit Funds
(4) Offering amnesty schemes to bring back black money
(5) None of these

According a recent circular of the Railway Board, the
Prime Minister’s Office (PMO) would handle all
projects worth and above.

(1) Rs 100 crore (2) Rs 200 crore

(3) Rs 300 crore (4) Rs 400 crore

(5) None of these
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